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q.
Please state your name, title, and business address.

A.
Hong Hu, Public Utility Economist, Office of the Public Counsel, P. O. Box 7800, Jefferson City, Missouri 65102.

q.
Please summarize your educational and employment background.

A.
I hold a Bachelor of Engineering degree in Management of Information Systems from Tsinghua University of Beijing, China and a Masters of Arts degree in Economics from Northeastern University.  I have completed the comprehensive exams for a Ph.D. in Economics from the University of Missouri at Columbia.  I have been employed as a regulatory economist with the Office of Public Counsel (OPC) since March 1997.

q.
Have you testified previously before this commission?

A.
Yes.

q.
What is the purpose of your testimony?

A.
The purpose of my direct testimony is to present the OPC’s development of allocation factors for transmission and distribution mains for use in the class cost of service study prepared by OPC witness James Busch.  I will also discuss the details of OPC's rate design recommendation.

I.  ALLOCATION OF MAINS COST 

Q.
Why is the allocation of mains cost an important aspect of class cost of service studies?

A.
In order to design customer rates for a utility company, class cost of service (CCOS) studies are commonly conducted in order to apportion total costs to the various customer classes in a manner consistent with the incurrence of those costs.  In a CCOS study, mains cost allocation is very important because the cost of transmission and distribution mains accounts for a large part of the total system cost.  Different methodology for allocating mains cost in a CCOS study will likely lead to different customer class revenue responsibility results.  On the other hand, the allocation of mains cost has been a very controversial issue.  Different parties to a case prefer different mains allocation methods and thus the parties' results vary widely from each other.

Q.
Why are there large discrepencies in the allocation of mains cost?

A.
The existence of the large discrepancies in the allocation of mains cost is rooted in the characteristics of the main systems - Mains cost is a shared cost.  The Company’s investment in mains provides the Company with the means to deliver the gas to locations of all customer classes in response to customers’ year-round demands for natural gas or have it available to back up other fuel sources.  All customers benefit from the existence of mains on every day that they use gas.  The total costs of mains in a utility are much less than the sum of stand-alone costs of mains would be if one system of mains were used by one customer or one customer class separately.


It cannot be disputed that since all customers benefit from the existence of the mains system, all customers should contribute to the recovery of the cost of this mains system.  Economic theory states that if each customer or class of customers is responsible for at least the incremental cost that this customer brings to the system, and that if no customer or class of customers is responsible for more than the stand alone cost that would be needed to serve this customer individually, then there is no cross-subsidy and the allocation of cost can be acceptable.  However, both the incremental cost and the stand-alone cost of each customer class are hard to measure or determine.  To accurately pinpoint cost responsibility of each specific customer class is inherently impossible.  

Q.
Please explain the controversies regarding different mains cost allocation methods.

A.
There are two primary controversies arising from different mains cost allocation methods.  The first controversy is in the classification step of a CCOS study.  Some people believe that a portion of mains cost should be classified as customer-related and others do not.  The second controversy is in the allocation step of a CCOS study.  Different experts advocate different methods of allocating the capacity-related mains cost.

Q.
Please explain the first controversy in mains cost allocation.

A.
In a CCOS study, costs can be classified as customer-related, capacity or demand-related, and energy or commodity-related.  It is commonly agreed that at least a portion of the distribution mains systems should be classified as demand-related since some portion is related to maximum system requirements which the system is designed to serve during short intervals and does not directly vary with the number of customers or their annual usage.  However, some people argue that a portion of the costs associated with the distribution system may be classified as customer-related costs.  One argument for inclusion of part of distribution mains in the customer cost classification is that there is a zero or minimum size main necessary to connect each customer to the system and thus afford the customer an opportunity to take service if he so desires.   The counter argument to the inclusion of certain distribution costs as customer costs is that mains are installed solely to serve the demands of consumers and should be allocated entirely to that function.  


Representatives of residential and other small customers have vigorously opposed the so-called “minimum size method”.  The minimum size method classifies costs related with the minimum size mains as customer-related and allocate this cost according to weighted or unweighted customer number.  Then the costs associated with distribution mains in excess of the minimum size plant are classified as demand-related and allocated to each customer class.  The problem with this approach is that unavoidably, the minimum size facility has a certain load-carrying capacity.  As a result of this method, small users would be allocated the cost of a minimum size distribution system that already satisfies much of their demand needs.  In addition, they would be allocated another portion of the cost based on their demands.  This method therefore results in a double allocation of cost to small users unless the demand capacity of the minimum system is subtracted from class demands prior to allocating the demand-related costs.  It is likely that this method would result in some small customers receiving an allocated cost that is even greater than their stand-alone cost. 


Other experts attempt to correct the minimum load double allocation problem by advocating another method, the "zero-intercept method" or the "minimum-intercept method".  It assumes that a no-load distribution system can be identified and allocated based on customer numbers.  The general technique of this method is to relate installed cost to current carrying capacity.  A curve is created for various sizes of the equipment involved, using regression techniques, and this curve is extended to a zero (no load) intercept.  It is argued that this no load portion of the distribution mains costs are incurred solely to reach the customer's premise.  Then incremental costs are incurred to satisfy different levels of the customer's demands.  The problem with this method is that it attempts to identify the cost of something that does not physically exist and cannot actually be measured.  The reference of a point that is outside the range that is defined by available data is generally forbidden in statistics because unreliable results can often be obtained.  We have seen cases where negative cost were generated for the "no load mains system".  These results and the faulty theoretical premise of this method raise serious doubt against the zero intercept method.

Q.
Does OPC choose to classify any mains cost as customer-related?

A.
No.  I do not believe that any of the mains cost that are shared among all customers should be classified as customer-related.  Previously, based on the assumption that mains that have a diameter of 2" or smaller may not be used in serving customers that have relatively large demand, OPC had directly assigned a portion of distribution mains system that corresponds to those mains that have a diameter of 2" or smaller to the residential and commercial & industrial general service customer classes.  After further discussion with the Company, I realized that such a direct assignment may not be fully justified.  Gas can travel through any number of paths.  If a customer is not connected to a 2" or smaller main, that does not mean that the gas he is getting has not flowed through a 2" or smaller pipe.  The entire integrated distribution system is designed and constructed to serve the entire customer base.  The specific path that gas actually travels through depends on many factors such as the customer's location, system pressure, time of day, etc.  Therefore, we cannot specify a certain portion of the system that is dedicated to a certain customer or a certain customer class without some detailed engineering analysis to support this assumption.  However, I do believe that it is possible that larger customers such as large volume and transportation customers may receive proportionally less benefit through those smaller size distribution mains (e.g. mains 2" or less in diameter).  Therefore, I have chosen to continue directly assigning a portion of the distribution mains that corresponds to mains of size 2” or less (approximately 27%) to the residential and commercial & industrial general service customers.  The rest of the mains cost are allocated to all customer classes as a shared capacity-related cost.  I would note, though, that the distribution mains allocators that resulted from this treatment may have over-allocated cost to the residential and commercial & industrial general service customers to a certain degree.

Q.
Please explain the second controversy in mains cost allocation.

A.
There are a wide variety of alternative methods for determining and allocating capacity-related costs such as mains cost that produce drastically different cost assignments to the various customer classes.  Each method has received support from some rate experts and no method is universally accepted.  The electric industry has produced more alternatives than the gas industry.  Different methods that I've come across in my past experiences in gas and electric cases include the following: the peak demand responsibility methods, the average and peak demand allocation method, the average and excess demand method, and the time differentiated allocation method.

Q.
Please describe the peak demand responsibility methods.

A:
A commonly used group of methods is called the peak demand responsibility method.  This group of methods allocates the mains costs on coincident or non-coincident peak demand.  Among this group, the single system coincident peak (1CP) demand allocation method uses the single annual system peak to measure customer cost responsibility.  Advocates of this method assume that since a major factor that drives the design of the system is the highest peak demand, the incremental cost of delivering gas on any day other than the peak day is zero.  Therefore, this method allocates the total cost to the peak day and allocates zero cost to the other days.  This method fails to reflect the fact that the utility system is built to satisfy the customers’ daily demands for gas, not only the demands on the peak day, and allocates the entire cost of the joint production according to usage on a single day.  Under this method, interruptible customers would generally receive no allocation of demand-related costs for their non-firm demand of gas, since they are assumed to be off the system during the peak period.  In other words, if this method is adopted, interruptible customers would receive a “free ride” to use the distribution main system without paying its costs.


The non-coincident peak demand (NCP) allocation method attempts to correct the problem with the 1CP method by allocating the cost of the facilities in accordance with each customer class's contribution to the sum of the maximum demands that all customer classes' impose on the facilities.  This method would result in all classes of customers being allocated a portion of system cost based upon their actual peak, regardless of the time of its occurrence.  This method will allocate some cost to interruptible customers since their non-coincident demand would not be zero.  However, this method still suffers from the flaw that it does not recognize that the system is built for the joint production to satisfy the everyday gas usage needs for all customers.  It essentially allocates all costs to the one day of usage when the class non-coincident peak happens for the class and allocates nothing to the class's non-peak usage in the rest of the year.   

Q.
Please describe the average and peak demand method and the average and excess method.

A:
The average and peak demand (A&P) method attempts to account for the annual energy supply needs of the company in addition to the capacity needs.  Total mains cost are multiplied by the system’s load factor to arrive at the capacity costs attributed to average use and these capacity costs are apportioned to the various customer classes on an annual energy usage basis.  The rest of the costs are considered to have been incurred to meet the coincident peak demands of the various classes of service.  For example, if the load factor is 55%, then 45% (1-55%) of the total mains cost is considered to have been incurred because of the peak demand and is allocated to peak users.  


The "average and excess" (A&E) allocation method appears to be similar to the A&P method because both methods divide the total cost into two parts based on the system load factor and both methods allocate the average usage portion based on average annual usage.  However, this method differs drastically from the A&P method in its allocation of the demand portion.  By allocating demand-related cost based on excess demand instead of total demand, this method gives a disproportionate advantage to customers who use the system in a continuous manner and have little excess demand, and penalizes customers with low load factors and high excess demand. 

Q.
Please give an example to illustrate how different results are obtained from different allocation methods.

A.
The following example illustrates the results of three allocation methods for two customers.  These two customers have the same annual gas usage.  However, they have different load factors.  In other words, one customer uses the system in a more continuous manner and the other customer has a more variable usage pattern and would cost the system more to satisfy its maximum demand.  An appropriate allocation method would be expected to allocate more cost to the customer with the lower load factor.

Table 1.  Demand and usage information for two customers 

 with different load factors

Customer
Load Factor
Average Demand (Annual Usage)
Coincident Peak Demand
Noncoincident Peak Demand
Excess Demand

Customer 1
0.8
100 
(50%)
120 
(37.5%)
125 
(38.5%)
25 
(20%)

Customer 2
0.5
100 
(50%)
200 
(62.5%)
200 
(61.5%)
100 
(80%)

Total
0.625
200 
(100%)
320 
(100%)
325 
(100%)
125 
(100%)

Table 2. A comparison of different allocation methods

Customer
Peak responsibility allocation method

(1CP)
Peak responsibility allocation method

(1NCP)
A&P 

Allocation method
A&E 

allocation method

Customer 1
37.5%
38.5%
50%*0.625+37.5%*0.375 = 45%
50*0.625+20%*0.375 = 38.75%

Customer 2
62.5%
61.5%
50%*0.625+62.5%*0.375 = 55%
50%*0.625+80%*0.375= 61.25%

Total
100%
100%
100%
100%


The above example shows that different cost allocations would be generated by different allocation methods based on the same demand and usage data.  Here all methods allocated more costs to customer 2 who has a lower load factor.  However, the 1CP and 1NCP methods only rely on the peak demand and do not give any consideration to the annual energy usage.  The result for A&P method reflects consideration of both factors.  In contrast, although the A&E method appears to allocate a portion of the total cost based on annual usage, it also allocates a large portion of the excess cost to the customer with a low load factor.  Therefore, although the A&E method gives the appearance that it has considered the effect of the annual energy usage, its generally generates an end result that is very similar to a peak responsibility method. 

Q.
Please explain the time differentiated allocation method.

A.
It is argued that traditional demand allocation methods do not consider differences in use over the course of a year and a time differentiated allocation method better reflects the fact that capacity-related costs are determined by loads throughout the year.  It is argued that this kind of allocation methodology is equitable because every customer, large or small, residential or industrial, receives exactly the same cost allocation as every other customer taking service in the same time.  For example, if a portion of the system is running year-round, then this method would allocate the corresponding cost to all hours (8760 hours) of the year.  If a further portion of the system is used all the time but one hour, then the method would allocate the cost that corresponds to this portion of the facilities to the 8759 hours.  This goes on and on until the last unit of the system that is only utilized in 1 hour and its cost would be allocate to this hour only.  This way it is only the difference in the timing of each class's usage that results in differences in the costs allocated to the classes for the entire year.  


In past electric and gas cases, the Commission Staff and OPC have allocated capacity-related costs based on each class's contribution to the sum of hourly class loads at each hour (time-of-use allocation method), or based on each class's contribution to the monthly peak demand in each month (the relative system utilization method or "value of service" method).

Q.
What method has OPC used to allocate mains cost in this case?

A.
Since OPC does not have resources to run a production model and thus allocate costs to each hour when the mains system is running, I have chosen to use the modified relative system utilization method (RSUM) for the allocation of mains system cost.  Applying this method, I have used monthly non-coincident peak day demand as a proxy of relative system utilization in different time periods to developing an allocation of cost to different customer classes.

Q.
Please explain the relative system utilization method.

A.
The original RSUM method was developed by Charles Laderoute in a paper that he presented at the 1988 NRRI Biennial Regulatory Information Conference and modified by former OPC economist Philip Thompson in a paper he presented at the 1992 NRRI Biennial Regulatory Information Conference.  The basic idea of this method is to identify the portion of capacity that corresponds to each month’s demand, and allocate the cost that corresponds to that capacity to customers who use gas in the month that this portion of the system is used.  For example, if 50% of capacity is used in 12 months of the year and 55% of capacity is used in 11 months, the extra 5% of capacity is not utilized in one month, say, July.  This method allocates the cost corresponding to 50% of capacity to every month, and customers who use gas in every month would receive a share of the costs that is corresponding to the 50% capacity.  Further, customers who use gas in every month but July will also receive a share of the cost that is corresponding to the additional 5% capacity.  

Q.
Please explain the modifications you have made to the RSUM method and why such modificaitons are necessary.

A.
An important characteristics of mains cost is the presence of economies of scale.  According to various flow formulas, a 4” pipe has a flow capacity of about 6 times that of a 2” pipe.  On the other hand, the per foot cost to install the 4” pipe may be less than 2 times of the cost to install the 2” pipe. This means that the cost of the incremental capacity needed to serve the peak is less than the average cost of capacity. For reference, I have attached a table that OPC former engineer, Barry Hall, presented in a previous gas rate case.  This table shows the comparison of available flow capacity for some common sizes of mains based on the flow capacity of a 2" main being equal to one.

Table 1. Relative Flow Capacity vs. Main Diameter

Main Diameter
Relative Flow Capacity

(2" Dia. Main = 1.0)

2"

4"

6"

8"

12"

24"
1.0

6.3

18.6

40.0

117.5

742.4


In order to capture this nonlinear relationship between the capacity (demand) and cost, I have employed an economies of scale factor, r.  This factor converts the share of peak day demand to the share of total capacity costs by raising the capacity percentages to the rth power.  The factor r is a measurement of the degree of the economies of scale.  There will be no economies of scale if r equals 1.  Previously Mr. Hall had studied several gas and electric companies and found an appropriate quantification for the factor r to be 0.3.  Utilizing this factor, if the capacity ratio of a 4" pipe and a 2" pipe is 6:1, the corresponding cost ratio is determined to be (60.3/10.3) = 1.71.

Q.
Please provide a step by step description of the modified relative system utilization method.

A.
Please refer to Schedule DIR HH-1.1.  The second column of this schedule contains the sum of weather-normalized non-coincident monthly peak day demands for all customer classes sorted in descending order.  The large customer peak demands were provided by Staff witness Dan Beck.
  The residential and C&I peak demands are calculated based on data provided by the staff witness Anne Ross, Kim Elvington, and Jim Gray.


In the next column (Months % of Annual Peak) the peak day demands are converted to percentages of the maximum monthly peak day demand.  For instance, the month having the second highest peak day demand has a peak that is 91.79% of the maximum peak day demand.  Another way of stating this is that there is an 8.21% increment of demand separating the two months.


In the fourth column, the percentages of monthly peak day demand are converted to percentages of total capacity costs by raising the capacity percentages to the rth power. Considering the third and the fourth columns it is easy to state what is indicated by the mathematical relationship here.  The first 10.62% of capacity requires an expenditure of more than 51% of the costs of the system, i.e. there are substantial fixed costs involved.  Likewise, 51.08% or approximately half of the capacity requires over 81% of the total costs to supply.  Conversely, adding roughly the last 50% of the capacity accounts for less than 20% of the costs.


The fifth column simply calculates successive differences in percentages of costs from the fourth column.  The top figure is the difference in percentage costs incurred to supply the additional capacity in moving from the second highest monthly peak to the maximum monthly peak day demand.  The second figure in this column is the same difference, only moving from the third highest monthly peak to the second highest monthly peak.


The adjacent column depicts the number of months over which that cost increment should be spread.  The first (highest or top increment) cost increment, occurring only on the peak day of one month is only spread to that month.  The next increment of cost/capacity is utilized for two months.  The last or base increment is utilized in all the months.  Each cost increment is divided by the number of months in which the corresponding capacity increment is utilized.


In the last column partial sums are formed for the cost increments utilized in each month.  For instance, the peak month sums all the increments of costs in the previous column, since all increments of capacity are used in that month.  The next partial sum for the next lowest month omits the top cost increment in its sum and so on.  The result is the percentage of capacity costs attributable to each month.


Refer to Schedule DIR HH–1.2.  The top block of numbers is the class peak day demands by month that Mr. Beck provided.  The next block of numbers simply repeated the same information only rearranged by sorting according to the peak day demands.  In the block below, class peaks have been converted to percentages of the sum of peak day demands for all the classes each month.


Summing the product of the class share of monthly peaks on Schedule DIR HH–1.2 and the portion of total capacity costs in each month in the last column on Schedule DIR(HH(1.1 gives the RSUM allocators at the bottom of Schedule DIR HH–1.2.  These are RSUM allocators that are applicable to the Company's transmission mains system.  Schedule DIR HH–1.3 shows the development of the distribution mains allocators that is based on the RSUM allocators and a direct assignment of 27% of cost to the residential class and the commercial & industrial general service class.

II.  CLASS COST OF SERVICE STUDY RESULTS AND RATE DESIGN ANALYSIS

Q.
Please describe the results of OPC's CCOS Study.

A.
OPC's CCOS study was performed by James Busch.  The result of OPC's CCOS study indicates that the margin rate level for the C&I GS class, the Large Volume class and the Interruptible class are currently producing returns that are below the total company return.  Conversely, the Residential, the Firm Transportation and Basic Transportation classes are currently producing a return above the level of the total company return.  The results that the study shows for LP and UMGL classes should be interpreted with caution since this class is very small and certain cost information was not available in the study. I have omitted these two classes in further rate design analysis.  The class rate of return information is summarized below in Table 2.

Table 2 – CCOS Indicated Customer Class Returns


Residential
Com. & Ind.
Large Volume
Inter-ruptible
Firm
Basic
LP
UMGL
Total

Returns
9.33%
4.09%
6.58%
5.39%
9.75%
9.56%
11.30%
80.88%
8.30%


In Table 3, I have also summarized the class revenue shift for the major classes indicated by OPC's CCOS study in order to equalize class rates of return if the Company's total revenue remains at the current level.

Table 3 – CCOS Indicated Revenue Neutral Class Revenue Shifts (thousand dollars)


Residential
Com. & Ind.
Large Volume
Inter-ruptible
Firm
Basic

Class Shifts
(4,865)
5,171
155
38
(197)
(283)

% Change
-2.79%
13.67%
5.46%
10.14%
-4.84%
-4.20%

Q.
What is the relative importance of ccos study results in rate design?

A.
A number of factors should be considered when determining the just and reasonable rate for a service.  The factors include cost of service, the value of service, affordability, rate impact, and rate continuity.  A CCOS study provides the Commission with a general guide as to the cost aspect of the just and reasonable rates.  I believe the Commission should adopt a rate design that balances movement towards cost of service with rate impact and affordability considerations.  The manner in which the cost factor and all the other factors are balanced by the Commission in setting the rates should only be determined on a case-by-case basis.

Q.
What rate design principle is OPC proposing based on the revenue shifts needed to equalize class rates of return indicated in Table 2 for this case?

A.
To reach the balance between movement towards cost of service with rate impact and affordability considerations, I believes that the Commission should impose, at a maximum, revenue shifts equal to one half of the revenue neutral shifts indicated by OPC’s CCOS study.  In addition, if the Commission determines that an increase in the total company revenue requirement is necessary, then no customer class should receive a net decrease as the combined result of the revenue neutral shift that is applied to that class and the share of the total revenue increase that is applied to that class.  Schedule DIR HH-2 illustrated this rate design methodology.

Q.
Please describe the information contained in Schedule DIR HH-2 and explain how it was calculated.

A.
Schedule DIR HH-2 shows how OPC's rate design principle can be applied assuming the Commission approved total company revenue adjustment to be an increase of $15 million or $36 million, or an reduction of $2 million or $4 million. The same series of calculations can be repeated for any revenue requirement increase or decrease that is determined by the Commission.  The schedule illustrates the combined impact of spreading three potential revenue requirement increase amounts to customer classes and the revenue neutral class revenue shifts recommended by OPC.  


For example, line 17 of this Schedule shows how the $15 million revenue requirement increase has been spread to the various customer classes.  Then line 23 shows the combined impact of the $15 million revenue increase and revenue neutral shift for each class was derived by adding each classes’ share of the $15 million revenue requirement increase to the revenue neutral shifts that OPC has recommended for each class.  For example, in line 17, we see that $11,383,000 is allocated to the residential class as a result of spreading a revenue requirement increase of $15 million.  This $11,383,000 amount is then added to the negative $2,433,000 revenue neutral shift amount for the residential class that appears in line 12.  The sum of these two amounts, $8,950,000, appears in line 23 under the residential column and represents OPC’s recommendation for the combined impact of revenue neutral shifts and share of overall revenue requirement increase that should be reflected in rates resulting from this case if the overall revenue requirement is increased by $15 million.  

Q.
Please explain how the adjusted combined impact amounts that appear in lines 34 through 38 of Schedule DIR HH-2 were calculated.

A.
Based on rate impact and equity considerations, OPC believes that no customer class should receive a net class rate revenue increase when there is an overall revenue requirement reduction and no customer class should receive a net class revenue decrease when there is an overall revenue requirement increase.  The combined impact of revenue increase and OPC’s revenue neutral shift numbers are thus adjusted further to reflect this consideration.  For example, for the case of a $2 million reduction, line 19 of Schedule DIR HH-2 shows that the spread of the overall revenue reduction to the C&I GS class, large volume class and the interruptible class are too small to offset their respective revenue neutral shifts.  This could cause these three classes to end up with a net increase (shown in line 25).  In this case the following steps should be followed to get our recommended result: (1) keeping the current C&I GS, large volume and interruptible class rate revenue requirements unchanged; (2) distribute the total revenue reduction to the other classes based on their recommended revenue percentages that are shown in line 10.  Line 37 and line 43 respectively show the final OPC recommended class revenue shifts, and the class revenue percentage results from this series of allocations of the total company revenue requirement reduction to each class at the $2 million level.

Q.
Please summarize OPC’s rate design recommendation for the class revenue requirements that should result from any increase or reduction in overall revenue requirement that the Commission determines to be reasonable in this case.

A.
In this testimony, I have proposed and illustrated the application of a method for increasing class revenue requirements to go along with any increase in the overall revenue requirement.  This method could be utilized to calculate class revenue requirements for any level of overall revenue requirement increase or reduction that is ultimately decided in this case.  Schedule DIR HH-2 shows the result of applying OPC’s recommended method for determining class revenue requirements to potential revenue requirement increase levels of $15 million and $36 million or revenue requirement reduction levels of $2 million and $4 million.  OPC could supply similar calculations to the Commission for any other amounts of change in the overall revenue requirement if requested to do so.

Q.
What recommendations do you have regarding Laclede's Residential customer charge?

A.
OPC's CCOS study showed that the customer-related cost, which is one of the factors considered in the determination of a customer charge level, is $11.58.  The customer-related cost calculation was based on the assumption that Laclede's costs are accurately reflected in the accounting schedules contained in the Staff’s direct testimony filing.  The costs that are included in the customer charge calculation are the costs that are related to services, meters, regulators, and customer accounts expenses.  The costs associated with services, meters, and regulators include the return on rate base for the relevant plant accounts, distribution operation and maintenance expenses associated with services, meters, and regulators, plus the depreciation expense associated with services, meters, and regulators.


Laclede’s residential customer charge is currently the highest for any Missouri LDC.  Since the residential customer charge that are indicated in OPC's CCOS study are slightly lower than the Company's current residential customer charge, I recommend that the current residential customer charge should be kept unchanged in the case of a total company revenue increase.  Any revenue increase that are distributed to the residential class should be obtained from increase in its commodity charges.  In the case of a total revenue reduction, I recommend that all residential rate components including the customer charge being reduced by the same percentage.  I am not making any recommendations at this time regarding rate components for the other customer classes.

Q.
Does this conclude your direct testimony?

A.
Yes.
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